
Code: Z246

Warning: Please drive carefully while you accustom yourself to the changed vehicle behaviour.

Fitting Instructions: 
1. Raise the rear of the car, support on chassis safety stands, and remove wheels.
2. Support hub, disconnect shock absorber lower mount, lower hub and remove spring.
WARNING - Spring compressors may be required to relieve any compression on the spring.
3. Fit ‘L’ shaped bracket (11) to the lower shock absorber mounting bolt as in captions below.
4. Assemble single eye link according to pictures below.
5. Mount bracket (10) to the inside of the rear swing arm chassis mount. Use OEM bolt.
6. Refit wheels, and lower the vehicle. Further fitting must be done with the vehicle at normal ride height - drive on 
ramps are can be used.
7. Grease D-bushes (1) with grease (12) and fit onto the sway bar.
8. Mount the sway bar (14) onto chassis mounts (10). 
9. Mount link (12) into  hole in bracket (11).
10. Tighten all mounting hardware.

Fitting
Instructions
BHR69 & BHR69Z

Contents;
1. 2 x D-bush
2. 4 x Sway bar link bushes
3. 2 x 3/8 inch * 2 inch long bolt.
4. 4 x 5/16 inch Nyloc nuts.
5. 2 x M10 Nyloc nuts.
6. 4 x M10 nuts.
7. 2 x 3/8 Nyloc nuts

 8. 2 x 3/8*1-1/4 flat washer - large.
9. 2 x 3/8 * 7/8 flat washer - small.
10. 2 x chassis bracket
11. 2 x link “L” bracket
12. 2 x single eye link
13. 1 x grease bag
14. 2 x D-bush bracket
15. 1 x sway bar
16. 4 x M10 Saucer washers
17. 4 x 5/16 *3/4 flat washer.

Application; Holden Barina XC, 2001-ON, - rear sway bar.
(Refer catalogue for exact listing).

Specification; BHR69 - 20mm non-adjustable full kit sway bar.
BHR69Z - 20mm 3 hole adjustable full kit sway bar. 

Redranger Pty Limited
4 Warringah Close, Somersby, NSW 2250 Australia

Ph: 61 2 4340 2355 Fax: 61 2 4340 2466
E-mail: sales@whiteline.com.au

 A.B.N. 99 124 177 297


	Page 1

